Power Hacksaw 1964 Popular Science

Material List

Structural

2 pcs  3/16”x1”x1 Ang 29 ½ ”               Over Arm  $ 12.29
	3/16" Thick

	1"
	±1/32"
	6 ft.
	9017K14
	$15.00


2 pcs 1/4 x 2x2 Ang 27”                       Base         $29.11
	1/4" Thick

	2"
	±3/64"
	6 ft.
	9017K69
	$38.81


4 pcs 1/4 x 2x2 Ang 2 ½ “                    Base Feet         $5.39
	1/4" Thick

	2"
	±3/64"
	6 ft.
	9017K69
	$38.81


4 pcs ¼ x 1 “ x 6”                                 Over Arm Saw Blade support arms (front/rear)  

                                                                                                               $8.49              

Wd. Each Each Each
	1"
	______
	__
	______
	__
	8910K142
	25.48


6 ft.
Total                                                                                                      $55.28              

Round Bar

1 pc 2” dia x 8” superior                               Con-Rod Lower Shaft          $30.78
	
	
	1 ft.
	3 ft.
	6 ft.

	Dia.
	Dia.
Tolerance
	
	Each
	
	Each
	
	Each

	2.0000"
	±0.0010"
	8890K651
	$46.17
	8890K69
	$96.03
	8890K656
	$184.67


1 pc ½ “ dia x 8” superior                             Con-Rod Upper Shaft            $2.78
	1 ft.
	3 ft.
	6 ft.

	Dia.
	Dia.
Tolerance
	
	Each
	
	Each
	
	Each

	0.5000"
	±0.0010"
	8890K451
	$4.17
	8890K45
	$8.67
	8890K456
	$16.68


2 pcs ½ “ dia x 6” superior                           Pulley Shafts                         $4.17
	1 ft.
	3 ft.
	6 ft.

	Dia.
	Dia.
Tolerance
	
	Each
	
	Each
	
	Each

	0.5000"
	±0.0010"
	8890K451
	$4.17
	8890K45
	$8.67
	8890K456
	$16.68


2 pcs  3 ¼ “ dia x.25” round bar                  Con-Rod Lower Shaft Retainer Plate $3.47
	3 1/4"
	8920K861
	83.20
	8920K863
	189.71
	8920K59
	332.82


2 pcs 2 5/8 dia od x 2” id x 1” bronze         Con-Rod Lower Bushing       $29.25
	
	
	6 1/2" Length
	13" Length

	OD
	ID
	
	Each
	
	Each

	1/2" Wall Thickness

	2 3/4"

1 3/4"

8911K922
95.06

8911K56
158.43




2pcs 1” dia od x ½ “ id x 1” bronze            Con-Rod Upper Bushing $ 5.50
	OD
	ID
	
	Each

	5/16" Wall Thickness

	1 1/8"
	1/2"
	8931K88
	$35.72


1 pc ½ dia x 6 7/8 round bar                        Con-Rod Support Spreader Bar  $.19
	Dia.
	
	Each

	1/2"
	8920K15
	$13.89


 4 pcs 5/8 dia x ½ “ x 1” Round Bar            Pulley Bushings $5.73
	1-ft.
	3-ft.

	OD
	ID
	
	Each
	
	Each

	0.065" Wall Thickness (±0.006")

	5/8"
	0.495"
	7782T471
	$17.18
	7782T473
	$45.21


1 pcs ¾ ‘ dia od x 3/8 “ id x .05” bronze     Thrust Washer  $ 1.04
	1"
	1/2"
	8911K126
	20.75
	8911K14
	34.58


1 pcs ½ “ dia x 1” superior                          Throw  Shaft   $.35
	1 ft.
	3 ft.
	6 ft.

	Dia.
	Dia.
Tolerance
	
	Each
	
	Each
	
	Each

	0.5000"
	±0.0010"
	8890K451
	$4.17
	8890K45
	$8.67
	8890K456
	$16.68


1 pcs 3/8 “ dia x 1” superior                         Pin Shaft          $.24
	Dia.
Tolerance
	Trade
Size
	
	Each

	0.3750"
	±0.0005"
	3/8"
	8890K42
	$6.55


Fasteners

2 pcs socket head bolt  ½ -13 x 1”     $.87
	1/2"-13—Head: Wd. 3/4"; Ht. 5/16"

	1"
	Fully Threaded
	25
	92865A712
	10.83




2 pcs socket head bolt  3/8-16 x 2 ½ “ $.72
	3/8"-16—Head: Wd. 9/16"; Ht. 15/64"

	
	
	
	
	

	2 1/2"
	1" to 1 5/16"
	25
	91247A634
	8.96


8 pcs socket head bolt  ¼ -20 x 2”    $2.52
	1/4"-20—Head: Wd. 7/16"; Ht. 5/32"

	
	
	
	
	

	2 1/2"
	Fully Threaded
	25
	92865A552
	7.89




2 pcs socket head bolt  3/8-16 x 1 ½ “    $1.16
	3/8"-16—Head: Wd. 9/16"; Ht. 15/64"

	
	
	
	
	

	2 1/2"
	Fully Threaded
	25
	92865A634
	14.51

	
	
	
	
	


2 pcs socket head bolt  ¼ -20 x 1 ¾ ”                $.63
	2 1/2"
	Fully Threaded
	25
	92865A552
	7.89


2 pcs socket head bolt  ¼ -20 x  ¾ ”                         $.19
	1"
	Fully Threaded
	100
	92865A542
	$9.26


8 pcs  Allen head cap screw10-24 x ¾  “                  $1.12
	10-24

	1"
	100
	91251A247*
	$14.05


4pcs ½ - 20 x ½ “ set screw                          $.63
	Black Alloy Steel—Meets ASTM F912

	10-24

	1/4"

50

94105A238
7.90


	
	
	

	
	
	
	


4 pcs 3/8 –16  nuts                                         $.20
	3/8"-16
	9/16"
	21/64"
	100
	95505A603
	4.90


10 pcs ¼ - 20 nuts                                               $.30
	1/4"-20
	7/16"
	7/32"
	100
	90499A029
	2.97


2 pcs 3/8 “ flat washer                                           $.10
	3/8"
	7/16"
	1"
	0.06"-0.11"
	100
	91081A131
	5.43


10 pcs ¼ “ flat washer                                                $.26
	1/4"
	5/16"
	47/64"
	0.05"-0.08"
	100
	91081A129
	2.58


2 pcs ½ “  lock washer                                             $.17
	
	
	
	
	
	
	

	1/2"
	0.5"
	0.87"
	0.12"
	100
	91101A233
	8.68


4 pcs 3/8” lock washer                                              $.17
	3/8"
	0.38"
	0.68"
	0.09"
	100
	91101A231
	4.25


10 pcs ¼ “  lock washer                                           $.22
	1/4"
	0.25"
	0.49"
	0.06"
	100
	91101A229
	2.28


Fastener Total                                                        $9.26
 H&S                                                                     $64.54
Grand Total                                                           $148.04
Drive Line

4pcs Pillow Blocks ½ “dia 

2 pcs 11” dia pulley ½ “ dia hoe

2 pcs 2” dia pulley ½ “ dia hole

1 pc ½ hp 110v electric motor ½ “ dia shaft

